23.

25.

27.

29.

31.

g(:L‘) =2"-3 A
The graph of g is obtained by shifting the graph of y = 2%

downward 3 units. 10
Domain: {—00, 00)

Range: (—3,00) 5
Asymptote: y = ~3

h(z) =4+ (%)I 5y
The graph of & is obtained by shifting the graph of y = (})° 15
upward 4 units.

Domain: (—o00,00)

Range: (4,00) O S

Asymptote: y = 4

) 0

f(z) =107%

The graph of f is obtained by shifting the graph of y = 10” to
the left 3 units.

Domain: (—o0,0)

Range: (0,00)

Asymptote: y =0

fl) =3

The graph of f is obtained by reflecting the graph of y = 3*
about the y-axis and then reflecting about the z-axis.

Domain: (—oc0,00)
Range: (—o0,0)
Asymptote: y =0

f) =57

The graph of f is obtained by reflecting the graph of y = 57
about the y-axis and by shrinking it horizontally by a factor of 2.
Domain: (—o0,00)

Range: (0,00)

Asymptote: y =0




